N = 0l & AF & F Al A

20128 &= =04 ol At S35 &l

SA SFEAMI
LN
el St-S AU LR N2 (Gt AIE SEEIH) (el &)
_ _ _ Muo
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
IRE N RN 9,530,273 3,235,446 6,294,827
= 2,836,000
| 345,000
Al 6,349,273
ot 2tel 1,691,626 3,021,010 A 1,329,384
= 806,000
Al 885,626
St=CEHHIY R 2l (ot=ZAtY SE3IAH) 440,626 2,317,010 AN 1,876,384
ot ELEAY 200,000 200,000 0
401 A& HIZ 20HYI 200,000 200,000 0
01 A& HI 198,560 198,560 0
Odt=C =4 (& - 5tetl)
200,000,000& * 99.28% 198,560
03 A& = 01| 1,440 1,440 0
Odt=E&4 S0l 200,000, 000& *0.72% 1,440
ot=ZEHIALS 150,000 1,900,000 A 1,750,000
401 A& Bl 2 CHHI 150,000 1,900,000 A 1,750,000
01 Al &l 148,920 1,892,440 21,743,520
Odt=E 28+ 150,000,000& * 99.28% 148,920
03 A€ =01 1,080 7,560 26,480
Odt=E2I=58+ 20Ul
150,000,000& * 0.72% 1,080
ot R N2 38,366 45,500 AT,134
206 =l 38,366 45,500 AT,134
01 HZ 4l 38,366 45,500 ANT,134
Odt=ERANE=E |72 38,366
A€ 720l & (400%500%50)
32,700& * 15004 4,905
Q=== (D=900) 425,400 = 1004 4,254
Q==& Il (D=648) 263,000& = 304 7,890
2 ==2+0] (D=300) 260,600& * 30K 7,818
2+ &l o = 5 2 (1000% 1000%50)
375,500& = 10K 3,755
2+ S o1 & 5 2 (600%600*50)
192,900& = 200K 3,858
2+ 5 01 & &= 24 (700%700+50)
294,300& * 2074 5,886
St mil2e|YE = 52,260 171,510 A 119,250
201 et A | 50,180 69,750 219,570
01 At 2teltl 33,280 62,250 228,970
Od A EH X2l 6,380




A SEAEAL
Za: giagael
CHol: Sl HHIUS MR (B TA SHa) CEERE
SN HB SR (BIH) - A - B S 0l &b S D=2
= s NlFAIE - 5SS o= 04| AFOH 1Lss
2REL (3N TS, K M)
280,000 3433 2,520
SWE 195,000& *1JH x4 3| 780
STy AN EH 290,000 «10H*43] 1,160
SAD|EUHs= 160,000& = 1CH*12& 1,920
Ogxad A84 57 ¢ 18,500
Ul (KT, E3301) 2,000
SteSEAXE 212 YR (FOS)
2,500,000& * 62l 15,000
StEmlEs2td A8H 57 7Y 1,500
Odt=ERXNE=EXE 2eldl 8,400
e s S 600,000& = 123 7,200
et 2l 300,000& * 43| 1,200
02 2324l 16,900 7,500 9,400
OSHEZZ AMEEH |
1,500,000& * 23| » 3044 9,000
OndEEg L AAMES 700
HHEBEZ 500,000& =1CH 500
FANE L SHERES 200,000« 1CH 200
Oot=ESHEEZE HIIR3
600,000& = 12& 7,200
202 (44| 2,080 1,760 320
01 =2 U A bl 2,080 1,760 320
O 2 &H P2FEA 2Uy0iH|
1,040,000& x2H 2,080
St HEUIAIY (St ArY SE3IH) 857,000 0 857,000
= 600,000
Al 257,000
ot=2t HEHIALS 857,000 0 857,000
= 600,000
Al 257,000
401 A& Bl 2 CHHI 857,000 0 857,000
= 600,000
Al 257,000
01 A& HI 750,830 0 750,830
OL2ot=2HEHAY 750,830
= 600,000
Al 150,830
02 Zeltl 100,000 0 100,000
O 2ot=21F A 22ldl 100,000
03 Al & 2CHHI 6,170 0 6,170
Ogdot=2HEHIAE R0l 6,170
OlSot=S At (Bt S AFY SE3IH) 394,000 0 394,000
= 206,000




S BRAYA
I sz
el OISO C A (S AY S23IH) EEREY
_ _ _ Muo
SN -3H - S2A(2AH) - NRAY - BE= Off & 2K Ofl At ot HusZ
Al 188,000
DISot4+ = &XAY 394,000 0 394,000
=2 206,000
Al 188,000
401 A& S THE| 394,000 0 394,000
2 206,000
Al 188,000
01 A&t 391,884 0 391,884
O B DIS5H4E EXAY 291,884
=2 206,000
Al 85,884
OBZNIE G+ZHXI ALY 100,000
03 Al & =0 bl 2,116 2,116
OEZBAI DISSH+E &1 2 2,116
EEDIENEET-! 5,933,893 5,933,893
2 2,030,000
I 345,000
Al 3,558,893
destaHRIANE 2 (St EAY S25T) 4,524,008 4,524,008
=2 1,400,000
Al 3. 124,008
stemelAe 29 4,524,008 4,524,008
2 1,400,000
Al 3,124,008
101 0124t 4,117 4,117
04 JI2HZENS S 4,117 4,117
OJIAHIZRS 24 4,117
AALY TZA 22
60,5408 * 2% * 102 1,211
SRR HRlE HEE Ha
60,5408 * 29 » 22 « 12 2,906
201 LEH2 | 1,176,511 1,176,511
01 AtR 22l H| 17,816 17,816
OmpH EHY 2E7Y 9,816
Zojoely EU 352,008 « 494 « 23 2,816
Swmely EU 250,008 « 1§ « 43 1,000
SADI S22l 500,0008 *33] 1,500
SAEXNS ARSE 2Y
1,500,0008! *33] 4,500
Om=H(Hge 27) 3,000
OSHI(02YL HIA22X) 5,000
02 2zl 1,158,695 1,158,695
o2z =%l 1,158,695




SN BAALL
M B2AIZALSY
Sl LRAGIAHAANLSY (GHETAY SEalH) (25l &2

My c
M- B S (31H) - MRA - Bl arey Gl o HZ2
g2 HIANEZ
15,000kwh*365 *80& 438,000
gRotr=sdXHMHeAE HIIRS
2,600kwh*3352 *80& 69,680
gR6t=sHAX2IAE LPG AIEZ
1,340 3352+ 1, 350kg 606,015
Al & &8l = X8I 41,000
A= XX 22l 4,000
203 H =&l 3,000 3,000
03 Al =&AL =& 3,000 3,000
OSZA A HF=E 3,000
206 XH = Hl 129,880 129,880
01 =4l 129,880 129,880
Odt=XMeld ANEE SN2+ N7
500,000& 203 10,000
OnzNESHEMAL(E=S)
4,800 15kg*365& 26,280
OSEN 2 (BelH2IA)
130& *3,000kg*240! 93,600
207 &R IHEH 22,000 22,000
03 A& &4 22,000 22,000
OagA 2 200,000 355 #22] 14,000
Odg=Xt 7 200,000& 205 *23| 8,000
301 et a3 1,500 1,500
2IIet2a= 1,500 1,500
O2k=% - 28X u¥ks
15,000,000 *10/100 1,500
307 212+01 o 527,500 527,500
05 BIZ2tR &= 527,500 527,500
O=Z=&II(TMS) BZZ At 6,500,000 *13 6,500
O==Z=FII(TMS) 2I2t2E 3,000,000 *12& 36,000
Oges MY o3 Jlane
60,000, 000& » 14| 60,000
OsdXH™elAlE LIt 50,000&*8,500& 425,000
401 AIEHIL 20hY| 2,624,500 2,624,500
= 1,400,000
Al 1,224,500
01 Al€Hl 2,473,682 2,473,682
OTY=Z QLY 2+E A X (5000%1500+300)
10,000,000& = 14| 10,000
Ozcls 29 23 At 10,000& = 3,850m’ 38,500
OHRFH ZESA 10,000,000& = 14 10,000




SM BEAYL
Hu: B EALSY
Crol: JASIAHE AR (ST A SEE) R
_ _ _ N E
Ao BB ERI(BI) - MIRAY - B S AroH G HIREY
Oogrsx dlAMF(00,HP,MLSS)
4,000,000& 243 96,000
Owrds ALK &4 5,000, 000& *43] 20,000
ORI W ASI| DUBA
10,000,000& 14! 10,000
OHBHRAT LSAL WAL
1,400,000, 000& *99.64% 1,394,960
= 700,000
Al 694,960
OHRH2IY EH2IALAY
860,000,000 *99.37% 854,582
= 700,000
Al 154,582
OstEAL MU @4 ATH(3.4kn)
40,000,000 *99. 1% 39,640
02 Zcldl 140,000 140,000
OE3Meld SAXAEAE 22l 140,000
03 AlZ 2 01| 10,818 10,818
OHRHAR =2AL HHAY SO
1,400,000,000& *0.36% 5,040
OHRH2IY EHIALAY
860,000, 000& *0.63% 5,418
OBEAIYA MY 2241 (3.4kn)
40,000,000 *0.90% 360
405 RHobFE S| 35,000 35,000
01 AL =S HEH| 35,000 35,000
Odt==HMel & £kl 288 AJzHPY
35,000,000 *1CH 35,000
olg StMelAd 2I (ot A SE3I) 1,096,410 1,096,410
= 630,000
Il 313,000
Al 153,410
S - UEot=HelAld 2Z 1,096,410 1,096,410
= 630,000
| 313,000
Al 153,410
101 @124 H| 1,210 1,210
| 1,210
04 JI2ZtHZ22XNSES 1,210 1,210
OM=&g 82 1,210
| 1,210
201 Et2Ad| 119,600 119,600
| 119,600
01 AFR 2t eld| 2,000 2,000
Oget=8gH| 2,000
Il 2,000




A SEAEAL
HH: BFIZANERS
Tl 22 - 018 si4HAIE SH(SIETAY SHIH) R
X . Col (5 SALO! . HA 2 S =
}\—I.O_|.I_T|(Elj1|).}\-“_|_}\|-|:1.Lo_i 0:”/\|—OH S0©
— T

02 T2 117,600 117,600
ozzegl 117,600
2203 3,000,00024* 122 36,000
| 36,000
NEETIENE] 5,800,000+ 122 69,600
| 69,600
AFR A 1,000, 00024 +122 * 1H 12,000
] 12,000
202 04t 20,000 20,000
o] 20,000
01 20l ] 20,000 20,000
O=22 - o8 staHel ol 20,000
)| 20,000
307 21201 & 55,600 55,600
| 38,190
Al 17,410
05 BI2t9IEr2 55,600 55,600
O22HUE AES BUE
6,500, 00024 %14} 6,500
o] 6,500
OUEHE AES BUH
6,500, 00024 +14} 6,500
| 6,500
O2g -8 &YX Heltl
120,000 * 15E +122 21,600
| 21,600
0L SHNAY 2% 2943
21,000, 00021 *14! 21,000
| 3,590
Al 7,410
401 A2 HIL 2T 900,000 900,000
= 630,000
o] 134,000
Al 136,000
01 Al&t] 893,520 893,520
O22HUE AES HBAL
450,000, 0002 +99. 268% 446,760
= 315,000
| 94,000
Al 37,760
OUFHE AES HBAL
450,000, 0002 +09. 28% 446,760
= 315,000
| 40,000
Al 91,760
03 Al& 2 THHI 6,480 6,480




SN BBAYL
M BHIZANE2Y
thel: 28 - 28 otxH2AE 2L (=S At SE3H) (ctel &
_ _ Muo
SN B SRA(SIH) - MBAY - BAS 0l &k o4 e HlnE2
O2=HeE AME=S HEAE RUH
450,000,000& *0.72% 3,240
OQEXMeIZE AMES HEAE 20U
450,000,000 *0.72% 3,240
OiSotXMelAlE 2 (ot ALY SE3AH) 313,475 0 313,475
| 32,000
Al 281,475
SsZHot=xelAME 2 32,000 0 32,000
| 32,000
201 Et2Ed| 32,000 0 32,000
| 32,000
02 2324l 32,000 0 32,000
O4RDEI+HRAANE BER2
1,250,000& =123 15,000
| 15,000
Oxmt25t=HelAld AlEEHHI KXY 17,000
Il 17,000
L2A25t=HelAE 2 281,475 0 281,475
101 21 244| 6,055 0 6,055
04 JI12HHZ22NSES 6,055 0 6,055
OArZotsHMelAlE MEZY A2 (60IHA)
60, 540% x30H »23] 3,633
OLAZ6trxelAld SEA
60,540 x20Z x23| 2,422
201 gEt2Ad| 222,000 0 222,000
02 =294l 222,000 0 222,000
O332=(8J],848)
250,000 *601 A+ 123 180,000
OAN&EZEHIS X 50,000& *60IH 2~ 10 30,000
O2235t=XalAlE XtE]
1,000,000& x12& 12,000
206 =l 600 0 600
01 =4l 600 0 600
OL7R6t=Held RAES A2
10, 000& *6074 2 600
307 S12H0| & 41,820 0 41,820
05 QIZtREZ 41,820 0 41,820
ObtSot=HMel & I (sd,4d)
10,560, 000& *27H 2 21,120
OltSot=Held FdSHeldl
11,5002 *60H 2~ *30k | 20,700
401 A& HIZ 2 CHYI 10,000 0 10,000
01 A& HI 10,000 0 10,000




SA: AL
HH: SAIZANERE
EHel: DiSotsHMelANE 2E(Gt+=ZMY SE3A) (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
OJlzaldol e MM (REDIIER) - &
.= 5,000,000 »2CH 10,000
405 AHakF S 1,000 0 1,000
01 A&t =S EF SHI 1,000 0 1,000
OHIIEEl HIAEI 7Y 1,000
HH2IZHI (BB AEA) 1,707,594 140,282 1,567,312
olAR2AHI (St AtY SE3IAH) 1,617,990 100,672 1,517,318
el 2 1,617,990 100,672 1,517,318
101 el A Hl 1,398,774 100,672 1,298, 102
01 2= 1,121,858 0 1,121,858
oJlzs 744,108
. 5= 3,698,200 x 1«12 44,379
. 62(gerJlsE) 3,116,900 x4 » 128 149,612
72(L8IIS%)  2,474,300& x 118128 326,608
. 8=(deh JIsA) 1,791,000& x5H « 123 107,460
.93 (ger dIsH) 1,781,500& »3H 123 64,134
da2=E 692, 193,000& =1/ 12%90% 51,915
O=¢ 251,862
ANt 2 Rg 101,717
55 10,4863 * 12 «50A| 2t 123 «80% 5,034
-6= (28 IIsA)
8,943 +4H x50 Al 2tx 12 x80% 17,171
-72(get IIs3)
8,078& x 112 x50 Al 2k 12 %80% 42,652
-8= (et JIsH)
7,252 x5 B x50 A| 2k 12& 21,756
9= (L8 IIsH)
6,555 x3H +50Al 2tx 12 11,799
~Z AR (HO0E A2 2)
8,262% x5F x4 A| 2H+20L 3,305
FLI2RE(H0HHE2R)
60,8533 x5 14 4,260
g2 26,040
- 32I3 23,520
2040 & 100,000 118« 123 13,200
15~204 80,0003 «6H 12 5,760
10~154 60,000 x3E 122 2,160
5~10 50,000 x4H *12& 2,400
-d2sg == 2,520
20~25¢ 10,0002 x6& » 12 720
25E 0 & 30,0003 x5 =122 1,800
=g 14,880
45 50,000 x24H » 123 14,400
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A SEAIE A
M HESAAH (BIAIYL)
ool QAU (BHTAY SBaI) (el &2
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
-MNsA2&E 40,000& x1H*12& 480
P 43,200
ot ANEI2R A
150,000 x24H x 12& 43,200
HRsRI_Y 27,758
-4= 3,698,200& x 1 x12& x4 . 8% 2,131
-5z 3,100,000 x4H x12& x4 . 8% 7,143
62U 2,480,000 x8H x12& x4 . 8% 11,428
= 1,750,000& »7H * 128 %4 .8% 7,056
IE=E 21,600
-bH S At 40,0003 x20H *12& 9,600
-2UIE 20,000& x50 = 12& 12,000
PNIE R R = 443, 1003 x7H x4 3| 12,407
Od Mz A 130,000 x24H « 12& 37,440
OYZE S ItH| 692,193,000 x1/12%120% 69,220
OAHIIB AtH| 692, 193,000& *x1/12%1/30%x10 19,228
02 JIEt& 2 % 90,881 0 90,881
(OPIE== 63,468
HAZ 2,460,000& x2H x12& 59,040
324 59,040,000 *1/12%x90% 4,428
O%g 8,877
NEEE RS,
6,911 & 2«50 Al 2tx12& *80% 6,635
FUA2RLY(BOAHIN2R)
52,065& x2H*10 1,042
AE>H(2LSB) 50,000& x2H «12& 1,200
o82+Y 2,880
HI2ONN2 2,400
=20 Ol &t 100,000& x2H = 12& 2,400
202 480
-20~254 10,0003 *1H =122 120
254 0| &t 30,000& x1H = 12& 360
O&ds=H 3,600
ot Xl &2 2 At 150,000& x2H = 12& 3,600
ONEsE 1,440
Bl < Xt 40,000& x 14 «12& 480
EeIE 20,000& x4H = 12& 960
OFAHZGAH| 130,000& »2H «12& 3,120
OYZE S| 58,560,000& *1/12%120% 5,856
OAHIIB AtH| 59,040,000& *1/12%1/30% 10! 1,640
03 RIHAZZ A 186,035 100,672 85,363
Ostd0l et (2H) 73,387
2s 1,058,080& »2H «12& 25,394
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SN BEARIL
HH: AR (BBALL)
SHol: QIR ol (ST AY SEEIH) EEREED
SH-EH . O3 - MBAY - BAS 0fl AF 08 Soe HRZ2
bSES) Fals] 25,393,920 *1.6% 407
|24 1,628,080& *22H *200% 6,513
d=2x4 1,628, 080& x2H *40%*23| 2,605
e cteddl 1,628, 080& *2H *250% 8,141
SIEE 1,440
—bH S At 40,0003 x2H =12 960
-2 2AIIEF 20,000& x2H = 12& 480
Ex-gReY 90,000& x2H x12& 2,160
HAEASE 70,000 x2H x12& 1,680
S HZAH| 160,000 x2H x12& 3,840
JFH 2 2| 110,000& »2H «12& 2,640
WEEXHI 140,000& x2H =12 3,360
HAE S| 1,628,080& x2H *120% 3,908
A2l = 7,204 x2H x10A| 2t 12& 1,729
sSe22E 86,4483 x2H x32 x12& 6,225
IS AbH 57,632& x2H «16 1,845
AHEEH =S (1Y) 300,000& x1H *x43| 1,200
TE==ys]l 150,000& »2H 300
=4 . ZJEJAAHI(3Y) 100,773
lg=s 1,349,330& *x3H »12& 48,576
a2 48,575,880 /122 *400% 16,192
nWEEB XY 120,000& »3¥ «12& 4,320
=R 130,000& x3¥ =12 4,680
A2 224

7, 7712 %3 x15A1 2tx1 50« 12& 6,295
HA&F It 1,349,330& *3H *120% 4,858
SdI22Y 62,1683 *1 .50 *3H x 15 4,197
IS A 62, 168& x3H x20 3,731
2B (2 16H) 2,820
NELS (R X2, 222, XtE4) 2,400
SHHIE XS (1S5HA2) 2,704
O=4dUHER AZ0a AFE2(20118) 2,700
OdtiEg= 9,175
=03 REEZ 100,769,730 *4 . 5% 4,535
ALEBEREES 100,769,730 *2.82% 2,842
oA |IBE Y= 2,841, 7063 x6.55% 187
NELEREES 100,769,730& x1.4% 1,411
MHEE = 200
M AY| 69,540
AUI A2 HA| 1,200
OXMZHRHAH| 100,000& x1H =128 1,200
ANSEXH| 40,260
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SN BAALL
HE: #H2YAY (BIAMYL)
Sl o2 HI(SHE T AR SEE) (25l &2

N BT (3H) - MEAIY - B2 A} OH HdE T H D=2
= = T - = S = (O = 0:”/&,% VSso
(OFSF=1= N 40,260
52 250,000& x1H~12& 3,000
62 155,000 *4H x12& 7,440
.2 140,000 *8H *12& 13,440
8~9=2 105,000& 118 «12& 13,860
HRAFE 105,000& x2H =12 2,520
03 SEYREHI 28,080 0 28,080
(@F=Fsfulorat=, 28,080
SIIE S At 80,000 x24H x12& 23,040
GBI A
80,000& x1H x12& 960
ol - 24k 80,000& x1H x12& 960
HAHRE 80,000& x1H = 12& 960
=& H
80,000& x1H x12& 960
SIIPSEEF 3
30,000& x2H x12& 720
horgs 20,000& x2H =128 480
304 A2 FEE2S 149,676 0 149,676
01 =282 149,676 0 149,676
OodZ28e= 84,893
PRl N 1,121,858,000& *7% 78,531
HRAFE 90,881,000& *7% 6,362
OH3REENdZ 1,212,739,000& *2.337% 28,342
OAULEHD 22 1,212,739,0002*2.82% 34,200
Owolzleees 2ua
34,200,000& *6.55% 2,241
|[2HH| (3t A SY3IH) 89,604 39,610 49,994
Jle&dl 89,604 39,610 49,994
201 L Bt2HH| 59,500 35,290 24,210
01 At 22|l 51,100 29,340 21,760
(@) TESERS=y 50,000 x2H x116Y 11,600
O=3Y 50,000& »2H *365 36,500
odgtAd=H| 3,000
02 3=2gH| 8,400 5,950 2,450
o332 ¥ 5,000
Odt==8 3l bl 3,400
202 (4 Hi 21,524 4,320 17,204
01 2| 21,524 4,320 17,204
Odt= - 2&kHe = 21,524
203 PR =2&lb| 8,580 0 8,580
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SN BHAA
A MM AAY (BB L)
el D12 AUI(BHE T A S5 (e @
_ - MG =
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
01 )| Z2Y AR =T Y| 3,300 0 3,300
OJlB2YHREAY| 3,300
02 HEIIIA L EY| 1,080 0 1,080
OFAINAREF Y| 40,0002 %27 1,080
04 RASY AR =T Y| 4,200 0 4,200
ORN2YAREAY 4,200
SETHYUR 5 197, 160 74,154 123,006
ST MRS (SISAY SEalH) 197,160 74,154 123,006
ST HUHEES 94,727 0 94,727
201 Yur2 | 56,827 0 56,827
01 AL 2r2lHl 39,677 0 39,677
OBI+CAIRE W4pE 22 4,605
S 228 H2RY 50,0008 + 5 250
SIAEAIZE DANEX 7Y
80,0008 * 208 A 1,600
DINNLEE SHESETY
502 * 18,70004 935
DANNLEBY AREBE 7
500,000 *14] 500
DANNESE Z2lE ST (SM)
330,0002 *47H 1,320
ONESIEYE 44813
5,000, 0002 x2%+ 122 1,200
OB+ E ASI| XY RN 8,000
AR Y OISR (HAY)
60,0008 * 5004 £ 3,000
HEJDH L SHAR(NAY)
50,0002 * 10074 2 5,000
OBt4+EAEBE H4BE +4BXS(MLES
235 3) 1,293,600,0002 * 2% 25,872
02 22| 17,150 0 17,150
OB+ TALBY 2MRD 2,550
SHRB (YY) 2502 * 500 * 122 1,500
SHRZ(SI)DALDIHLT
1,7502 * 50% + 128 1,050
OAEEE Sl 14,600
SN L SEXA T2 XY
11,000,0002! *14! 11,000
ABIlcYR T2 Xzl
300,002 *122 3,600
202 014 2,400 0 2,400
01 =L 01 bl 2,400 0 2,400
O2U0i bl 2,400
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2A: EBEAEA
FH: ot HAA &5
Chel: ot=T MYUTAES(ot=TAIYE SE3H) (S :®2)
S . "M . O (5 HEAY . B2 Al OH HEE Hl =2+
St=SAEE MYX B+=d Ol (AAl)
20,0003 *» 2% » 52 » 123 2,400
206 M Z 8l 9,000 0 9,000
01 MZHl 9,000 0 9,000
Odt== T HSI| 7 (AlIZHA) 60, 000& * 1504 9,000
207 A PO d| 25,000 0 25,000
01 22 E 9| 25,000 0 25,000
Oot=S2AINATHEOIIY JADMAE (SEH
25,000,000& = 14 25,000
405 RHekFE S HI 1,500 0 1,500
01 AL =S F=HI 1,500 0 1,500
OXBALEHI| 2L (HIMI])
1,500,000 *1CH 1,500
ol Bl 102,433 74,154 28,279
801 aildlbl 102,433 74,154 28,279
01 oyl bl 102,433 74,154 28,279
Ouollgltl 102,433
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